Nonlinear Functional Analysis and Applications Vol. 30, No. 2 (2025), pp. 465-475 ISSN: 1229-1595(print), 2466-0973(online)

https://doi.org/10.22771/nfaa.2025.30.02.10 http://nfaa.kyungnam.ac.kr/journal-nfaa



# ULAM STABILITY OF LINEAR DIFFERENTIAL EQUATIONS OF HIGHER ORDER USING ABOODH TRANSFORM

Sanmugam Baskaran<sup>1</sup>, Ramdoss Murali<sup>2</sup>, A. Ponmana Selvan<sup>3</sup>, Mana Donganont<sup>4</sup> and Choonkil Park<sup>5</sup>

<sup>1</sup>Department of Mathematics, Sacred Heart College (Autonomous), Tirupathur 635 601, Tirupathur Dt, Tamil Nadu, India

Affiliated to Thiruvalluvar University, Serkkadu, Vellore 632 115, Tamil Nadu, India e-mail: sps.baskaran@gmail.com

<sup>2</sup>Department of Mathematics, Sacred Heart College (Autonomous), Tirupathur 635 601, Tirupathur Dt, Tamil Nadu, India Affiliated to Thiruvalluvar University, Serkkadu, Vellore 632 115, Tamil Nadu, India

e-mail: shcrmurali@yahoo.co.in

<sup>3</sup>Department of Mathematics, Kings Engineering College, Irungattukottai, Sriperumbudur - 602117, Tamil Nadu, India e-mail: selvaharry@yahoo.com

<sup>4</sup>School of Science, University of Phayao, Phayao 56000, Thailand e-mail: mana.do@up.ac.th

<sup>5</sup>Research Institute for Convergence of Basic Sciences, Hanyang University, Seoul 04763, Korea e-mail: baak@hanyang.ac.kr

**Abstract.** Using the Aboodh transform, we prove the Hyers-Ulam stability of the nth order linear differential equation

$$x^{(n)}(v) + \sum_{\kappa=0}^{n-1} a_{\kappa} x^{(\kappa)}(v) = \phi(v).$$

<sup>&</sup>lt;sup>0</sup>Received September 2, 2024. Revised December 30, 2024. Accepted January 1, 2025.
<sup>0</sup>2020 Mathematics Subject Classification: 34K20, 26D10, 44A10, 39B82, 34A40, 39A30.
<sup>0</sup>Keywords: Hyers-Ulam stability, linear differential equation, Aboodh transform.

<sup>&</sup>lt;sup>0</sup>Corresponding author: Mana Donganont(mana.do@up.ac.th).

466 S. Baskaran, R. Murali, A. Ponmana Selvan, M. Donganont and C. Park

## 1. INTRODUCTION

The theory of stability is an important branch of the qualitative theory of differential equations. Alsina and Ger [4] investigated the stability of differential equation x' = x. They proved the following celebrated theorem.

**Theorem 1.1.** ([4]) Let  $\epsilon > 0$  and  $f : I \to \mathbb{R}$  be a differentiable function, which satisfies the following differential inequality  $|x'(t) - x(t)| \leq \epsilon$  for all  $t \in I$ , where I is an open interval of  $\mathbb{R}$ . Then there is a solution  $g : I \to \mathbb{R}$  of x'(t) = x(t) such that for all  $t \in I$ , we have  $|f(t) - g(t)| \leq 3\epsilon$ .

This result was generalized by Takahasi *et al.* [21], who proved the Hyers-Ulam stability for the Banach space valued differential equation  $y'(t) = \lambda y(t)$ . Moreover, the Hyers-Ulam stability was proved for the first order linear differential equations in more general settings [7, 8, 9] and higher orders in [12, 14]. See [5, 6, 11] for more information on the stability of functional equations and applications.

In 2014, Alqifiary and Jung [2] investigated the Hyers-Ulam stability of

$$x^{(n)}(t) + \sum_{k=0}^{n-1} \alpha_k x^{(k)}(t) = f(t),$$

by using the Laplace transform method (see also [15, 20]).

In 2019, Murali and Ponmana Selvan [17] investigated the Hyers-Ulam stability of the linear differential equation using Fourier transform method (see also [13]). Recently, Rassias, Murali and Ponmana Selvan [19] established the Mittag-Leffler-Hyers-Ulam stability of the first and second order linear differential equations by applying Fourier transforms.

Recently, the Hyers-Ulam stability of general first order linear differential equations with constant coefficients of homogeneous and non-homogeneous types was proved with the help of Mahgoub integral transform in [10].

Very recently, Murali, Ponmana Selvan, Park and Lee [18] proved different forms of Hyers-Ulam stability and Mittag-Leffler-Hyers-Ulam stability of the second order differential equation of the form  $u'' + \mu^2 u = q(t)$  by using Aboodh (integral) transform. By applying Aboodh transform, various forms of Hyers-Ulam stability and Mittag-Leffler-Hyers-Ulam stability of the first order differential equation were proved in [16].

The Hyers-Ulam stability of differential equations has been given attention and it was established by many authors. Motivated and connected by the above results, our main aim is to more efficiently prove the Hyers-Ulam stability of the higher order linear differential equation. That is, we establish the Hyers-Ulam stability of the higher order linear differential equations of the form

$$x^{(n)}(v) + \sum_{\kappa=0}^{n-1} a_{\kappa} x^{(\kappa)}(v) = \phi(v)$$
(1.1)

for all  $v \in I$ ,  $x(v) \in C^n(I)$  and  $\phi(v) \in C(I)$ , I = [a, b],  $-\infty < a < b < \infty$ , by using the Aboodh transform method.

## 2. Preliminaries

In this section, we introduce some standard notations and definitions which will be very useful to obtain our main results.

A function  $f: (0, \infty) \to \mathbb{R}$  is said to be of exponential order if there exist constants  $A, B \in \mathbb{R}$  such that  $|f(t)| \leq Ae^{tB}$  for all t > 0.

Let f and g be Lebesgue integrable functions on  $(-\infty, +\infty)$ . Let S denote the set of x for which the Lebesgue integral

$$h(x) = \int_{-\infty}^{\infty} f(t) g(x-t) dt$$

exists. This integral defines a function h on S called the *convolution* of f and g. We also write h = f \* g to denote this function.

**Definition 2.1.** ([1, 3]) The Aboodh (integral) transform is defined, for a function of exponential order f(t), by

$$\mathcal{A}\lbrace f(t)\rbrace = \frac{1}{v} \int_{0}^{\infty} f(t) \ e^{-vt} \ dt = F(v),$$

provided that the integral exists for some v, where  $v \in (k_1, k_2)$ .  $\mathcal{A}$  is called the Aboodh (integral) transform operator. Here  $0 < k_1 < +\infty$  and  $k_2$  may be finite or infinite.

**Theorem 2.2.** ([1, 3]) Let F(v) be the Aboodh transform of f(t). Then, f(0)

(i) 
$$\mathcal{A}\{f'(t)\} = v F(v) - \frac{f(0)}{v}$$
.  
(ii)  $\mathcal{A}\{f''(t)\} = v^2 F(v) - \frac{f'(0)}{v} - f(0)$ .  
(iii)  $\mathcal{A}\{f^{(n)}(t)\} = v^n F(v) - \sum_{k=0}^{n-1} \frac{f^{(k)}(0)}{v^{2-n+k}}$ .

Now, we give a definition of Hyers-Ulam stability of the differential equation (1.1).

**Definition 2.3.** ([17]) We say that the differential equation (1.1) has the Hyers-Ulam stability if there exists a constant L > 0 satisfying the following condition: For every  $\epsilon > 0$  and an *n* times continuously differentiable function x(v) satisfying the inequality

$$\left|x^{(n)}(v) + \sum_{\kappa=0}^{n-1} a_{\kappa} x^{(\kappa)}(v) - \phi(v)\right| \le \epsilon$$

for all  $v \in I$ , there exists some  $x_a \in C^n(I)$  satisfying

$$x_a^{(n)}(v) + \sum_{\kappa=0}^{n-1} a_{\kappa} x_a^{(\kappa)}(v) = \phi(v)$$

and  $|x(v) - x_a(v)| \leq L\epsilon$  for all  $v \in I$ . We call such L as the Hyers-Ulam stability constant for (1.1).

## 3. Hyers-Ulam stability

**Lemma 3.1.** Let  $P_1(u) = a_0 + a_1u + a_2u^2 + \cdots + a_nu^n$  and  $P_2(u) = b_0 + b_1u + b_2u^2 + \cdots + b_mu^m$  where m and n are nonnegative integers with m < n and  $a_j, b_j$  are scalars. Then there exists an infinitely differentiable mapping  $\psi: (0, \infty) \to \mathbb{R}$  such that

$$\mathcal{A}(\psi) = \frac{P_2(u)}{P_1(u)} \qquad (R(u) > \rho_{P_1})$$

and

$$\psi^{(i)}(0) = \begin{cases} 0, & i = 0, 1, \dots, n - m - 3, \\ \frac{b_m}{a_n}, & i = n - m - 2, \end{cases}$$

where  $\rho_{P_1} = \max\{R(u) : P_1(u) = 0\}$ . Here R(u) denotes the real part of u.

*Proof.* Let

$$P_1(u) = a_n (u - u_1)^{n_1} (u - u_2)^{n_2} \cdots (u - u_\kappa)^{n_\kappa}$$

where  $u_i$  are complex numbers for  $i = 1, 2, ..., \kappa$  and  $n_j$  is an integer with  $n = n_1 + \cdots + n_{\kappa}$ . Then we have

$$\frac{P_2(u)}{P_1(u)} = \sum_{i=1}^{\kappa} \sum_{j=1}^{n_i} \frac{\delta_{ij}}{(u-u_i)^j},$$

where  $\delta_{ij}$  are scalars. Let

$$\chi_{ij}(v) = \frac{v^{j-2}}{(j-2)!} e^{u_i v},$$

where  $i = 1, 2, ..., \kappa$  and  $j = 1, 2, ..., n_i$ . Let

$$\psi(v) = \sum_{i=1}^{\kappa} \sum_{j=1}^{n_i} \delta_{ij} \chi_{ij}(v).$$

Applying the Aboodh transform to  $\psi(v)$ , we get

$$\mathcal{A}(\psi) = \frac{P_2(u)}{P_1(u)}$$

for all u with  $R(u) > \rho$ , where  $\rho = \max\{R(u_i) : i = 1, 2, ..., \kappa\}$ . By Maclaurin's series, we have

$$\psi(v) = \psi(0) + \psi'(0)v + \dots + \frac{\psi^{(n-1)}(0)}{(n-1)!}v^{n-1} + \chi(v),$$

where

$$\chi(v) = \sum_{i=n}^{\infty} \frac{\psi^{(i)}(0)}{i!} v^i.$$

Note that  $\mathcal{A}(\chi) = \frac{\Omega(u)}{u^{n+2}}$ , where  $\Omega$  is a complex function. Then

$$\mathcal{A}(\psi) = \frac{\psi(0)}{u^2} + \frac{\psi'(0)}{u^3} + \frac{\psi''(0)}{u^4} + \dots + \frac{\psi^{(n-1)(0)}}{\psi^{n+1}} + \frac{\Omega(u)}{u^{n+2}}.$$

Hence,

$$\frac{\psi(0)}{u^2} + \frac{\psi'(0)}{u^3} + \frac{\psi''(0)}{u^4} + \dots + \frac{\psi^{(n-1)(0)}}{\psi^{n+1}} + \frac{\Omega(u)}{u^{n+2}} = \frac{b_0 + b_1 u + \dots + b_m u^m}{a_0 + a_1 u + \dots + a_{m+\tau} u^{m+\tau}},$$

where  $\tau = n - m$ . Assume that  $\tau \geq 3$ . Multiplying both sides of the above equation by  $u^2, u^3, \dots, u^{\tau}$  and taking  $u \to \infty$ , we get

$$\psi(0) = \psi'(0) = \dots = \psi^{(\tau-3)}(0) = 0 \text{ and } \psi^{\tau-2}(0) = \frac{b_m}{a_n}.$$

This completes the proof.

**Lemma 3.2.** Let n > 1 be an integer and  $\phi : (0, \infty) \to \mathbb{R}$  be a continuous function and  $P_1(u)$  be a complex polynomial of degree n. Then there exists an n times continuously differentiable function  $\chi : (0, \infty) \to \mathbb{R}$  such that

$$\mathcal{A}(\chi) = \frac{\mathcal{A}(\phi)}{P_1(u)} \quad (R(u) > \max\{\rho_{P_1}, \rho_j\}),$$

where  $\rho_{P_1} = \max\{R(u) : P_1(u) = 0\}$  and  $\rho_j$  is the abscissa of convergence for  $\phi$ . In particular, it holds that  $\chi^{(i)}(0) = 0$  for all i = 0, 1, 2, ..., n-2.

469

*Proof.* Let  $P_2(u) = \frac{1}{u}$  and  $P_1(u) = a_0 + a_1u + \dots + a_nu^n$ . Then there exists an infinitely differentiable function  $\psi : (0, \infty) \to \mathbb{R}$  such that

$$\mathcal{A}(\psi) = \frac{\frac{1}{u}}{P_1(u)} \quad (R(u) > \rho_{P_1})$$

and  $\psi^{(i)}(0) = 0$  if i = 0, 1, 2, ..., n - 3 and  $\psi^{(n-2)}(0) = \frac{1}{a_n}$ . Now we define  $\chi = \psi * \phi$ . Then we obtain  $\mathcal{A}(\chi) = \frac{\mathcal{A}(\phi)}{P_1(u)}$  and

$$\chi'(t) = \psi(0)\phi(v) + \int_0^v \psi'(v-\nu)\phi(\nu)d\nu = \int_0^v \psi'(v-\nu)\phi(\nu)d(\nu),$$
  
$$\chi^{(i)}(v) = \psi^{(i-1)}(0)\phi(v) + \int_0^v \psi^{(i)}(v-\nu)\phi(\nu)d\nu = \int_0^v \psi^{(i)}(v-\nu)\phi(\nu)d\nu$$
  
$$\Rightarrow \text{ all } i = 1, 2, \dots, n-2 \text{ with } \chi(0) = \chi'(0) = \dots = \chi^{(n-2)} = 0.$$

for all i = 1, 2, ..., n - 2 with  $\chi(0) = \chi'(0) = \dots = \chi^{(n-2)} = 0.$ 

**Theorem 3.3.** Let a be a scalar. If a function  $x : (0, \infty) \to \mathbb{R}$  satisfies

$$|x'(v) + ax(v) - \phi(v)| \le \epsilon \tag{3.1}$$

for all v > 0 and for each  $\epsilon > 0$ , then there exists a solution  $x_a : (0, \infty) \to \mathbb{R}$ of the differential equation

$$x'(v) + ax(v) = \phi(v) \tag{3.2}$$

such that

$$|x_a(v) - x(v)| \le \begin{cases} \epsilon v, & R(a) = 0\\ \frac{(1 - e^{-R(a)v})\epsilon}{R(a)}, & R(a) \neq 0 \end{cases}$$

for all v > 0.

*Proof.* Let  $\zeta(v) = x'(v) + ax(v) - \phi(v)$  for all v > 0. Then we get

$$\mathcal{A}(\zeta) = u\mathcal{A}(x) - \frac{x(0)}{u} + a\mathcal{A}(x) - \mathcal{A}(\phi)$$

and so

$$\mathcal{A}(x) - \frac{\frac{x(0)}{u} + \mathcal{A}(\phi)}{u+a} = \frac{\mathcal{A}(\zeta)}{u+a}.$$
(3.3)

Let  $x_a(v) = x(0)e^{-av} + (E_{-a}*\phi)v$ , where  $E_{-a}(v) = e^{-av}$ . Then  $x_a(0) = x(0)$ and

$$\mathcal{A}(x_a) = \frac{\frac{x(0)}{u} + \mathcal{A}(\phi)}{u+a} = \frac{\frac{x_a(0)}{u} + \mathcal{A}(\phi)}{u+a},$$
(3.4)

$$\mathcal{A}[x_a'(v) + ax_a(v)] = u\mathcal{A}(x_a) - \frac{x_a(0)}{u} + a\mathcal{A}(x_a) = \mathcal{A}(\phi).$$

Since  $\mathcal{A}$  is injective,  $x'_a(v) + ax_a(v) = \phi(v)$ . Therefore,  $x_a$  is a solution of (3.2). Using (3.3) and (3.4), we have

$$\mathcal{A}[E_{-a} * \zeta] = \frac{\mathcal{A}(\zeta)}{u+a}.$$

We obtain  $\mathcal{A}(x) - \mathcal{A}(x_a) = \mathcal{A}[E_{-a} * \zeta]$  and  $x(v) - x_a(v) = (E_{-a} * \zeta)(v)$ . By (3.1), we get  $|\zeta(v)| \leq \epsilon$  and by convolution, we obtain

$$|x(v) - x_a(v)| = |(E_{-a} * \zeta)(v)| \le \epsilon e^{-R(a)} v \int_0^v e^{R(a)\nu} d\nu.$$

This completes the proof.

**Theorem 3.4.** Let  $a_0, a_1, \ldots, a_{n-1}$  be scalars, where n > 1 is an integer. Then there exists a constant N > 0 such that for each function  $x : (0, \infty) \to \mathbb{R}$  satisfying

$$\left| x^{(n)}(v) + \sum_{\kappa=0}^{n-1} a_{\kappa} x^{(\kappa)}(v) - \phi(v) \right| \le \epsilon$$
 (3.5)

for all v > 0 and for each  $\epsilon > 0$ , there exists a solution  $x_a : (0, \infty) \to \mathbb{R}$  of the differential equation

$$x^{(n)}(v) + \sum_{\kappa=0}^{n-1} a_{\kappa} x^{(\kappa)}(v) = \phi(v)$$
(3.6)

such that

$$|x_a(v) - x(v)| \le \epsilon N \frac{e^{av}}{a}$$

for all v > 0 and  $a > \max\{0, \rho, \rho_j\}$ , where  $\rho_j$  was defined in Lemma 3.2 and  $\rho = \max\{R(u_{\kappa}): \kappa = 1, 2, ..., n\}.$ 

Proof. Using integration by parts repeatedly, we get

$$\mathcal{A}[x^{(n)}] = u^n \mathcal{A}(x) - \sum_{j=0}^{n-1} u^{n-2-j} x^{(j)}(0)$$

for any integer n > 0. Let  $a_n = 1$ . So  $x_0$  is a solution of (3.6) if and only if

$$\mathcal{A}(\phi) = (a_0 + \eta_{n,0}(u)) \mathcal{A}(x_0) - \sum_{j=0}^{n-1} \eta_{n,j}(u) \frac{x_0^{(j)}(0)}{u^2}, \qquad (3.7)$$

where  $\eta_{n,j}(u) = \sum_{\kappa=j+1}^{n} a_{\kappa} u^{\kappa-j}$  for  $j = 0, 1, 2, \dots, n-1$ . We consider

$$\chi(v) = x^{n}(v) + \sum_{\kappa=0}^{n-1} a_{\kappa} x^{(\kappa)}(v) - \phi(v)$$

472 S. Baskaran, R. Murali, A. Ponmana Selvan, M. Donganont and C. Park

for all v > 0. Then

$$\mathcal{A}(\chi) = (a_0 + \eta_{n,0}(u)) \mathcal{A}(x) - \sum_{j=0}^{n-1} \eta_{n,j}(u) \frac{x^{(j)}(0)}{u^2} - \mathcal{A}(\phi).$$

Hence, we get

$$\mathcal{A}(x) - \frac{1}{a_0 + \eta_{n,0}(u)} \left[ \sum_{j=0}^{n-1} \eta_{n,j}(u) \frac{x^{(j)}(0)}{u^2} + \mathcal{A}(\phi) \right] = \frac{\mathcal{A}(\chi)}{a_0 + \eta_{n,0}(u)}.$$
 (3.8)

Let  $\rho_j$  be the abscissa of convergence for  $\phi$ . Let  $u_1, u_2, \ldots, u_n$  be the roots of the polynomial  $\eta_{n,0}$  and let

$$\rho = \max\{R(u_{\kappa}): \ \kappa = 1, 2, \dots, n\}.$$
(3.9)

For all u with  $R(u) > \max\{\rho, \rho_j\}$ , we define

$$\Delta(u) = \frac{1}{a_0 + \eta_{n,0}(u)} \left[ \sum_{j=0}^{n-1} \eta_{n,j}(u) \frac{x^{(j)}(0)}{u^2} + \mathcal{A}(\phi) \right].$$
 (3.10)

By Lemma 3.2,

$$\mathcal{A}(\phi_0) = \frac{\mathcal{A}(\phi)}{a_0 + \eta_{n,0}(s)} \tag{3.11}$$

for all u with  $R(u) > \max\{\rho, \rho_j\}$  and

$$\phi_0(0) = \phi'_0(0) = \dots = \phi_0^{(n-2)}(0) = 0$$

for j = 1, 2, ..., n - 1. So

$$\frac{\eta_{n,j}(u)}{a_0 + \eta_{n,0}(u)} = \frac{1}{u^j} - \frac{\sum_{\kappa=0}^j a_\kappa u^\kappa}{u^j \left(a_0 + \eta_{n,o}(u)\right)}$$
(3.12)

for all u with  $R(u) > \max\{0, \rho\}$ . By Lemma 3.1,

$$P_2(u) = \sum_{\kappa=0}^j a_\kappa u^\kappa$$

and

$$p_1(u) = u^j (a_0 + \eta_{n,0}(u)).$$

For differentiable function  $\psi_j$ , we have

$$\mathcal{A}(\psi_j) = \frac{\sum\limits_{\kappa=0}^{j} a_{\kappa} u^{\kappa}}{u^j \left(a_0 + \eta_{n,o}(u)\right)}$$
(3.13)

and 
$$\psi_j(0) = \psi'_j(0) = \dots = \psi_j^{(n-2)} = 0$$
. Let  
 $\phi_j(v) = \frac{v^j}{(j)!} - \frac{\psi_j(v)}{u^2}$ 
(3.14)

for  $j = 1, 2, \ldots, n - 1$ . Then we get

$$\phi_j^{(i)}(0) = \begin{cases} 0, & i = 0, 1, 2, \dots, j - 2, j, j + 1, \dots, n - 2, \\ 1, & i = j - 1. \end{cases}$$

If we define

$$x_a(v) = \sum_{j=0}^{n-1} x^j(0)\phi_j(v) + \phi_0(v),$$

then we get  $x_a^{(i)}(0) = x^{(i)}(0)$ , for all i = 0, 1, 2, ..., n - 2. Using (3.10), (3.11), (3.12), (3.13), (3.14) and  $\mathcal{A}(x_a) = \Delta(u)$ , we get

$$\mathcal{A}(x_a) = \frac{1}{a_0 + \eta_{n,0}(u)} \left[ \sum_{j=0}^{n-1} \eta_{n,j}(u) \frac{x_a^{(j)}(0)}{u^2} + \mathcal{A}(\psi) \right]$$
(3.15)

for all u with  $R(u) > \max\{0, \rho, \rho_j\}$ .

Now using (3.7) we get  $x_0$  is a solution of (3.6). Again by (3.8) and (3.15), we get

$$\mathcal{A}(x) - \mathcal{A}(x_a) = \frac{\mathcal{A}(\chi)}{a_0 + \eta_{n,0}(u)}$$

and so

$$|x(v) - x_a(v)| = \left| \mathcal{A}^{-1} \left( \frac{\mathcal{A}(\chi)}{a_0 + \eta_{n,0}(u)} \right) \right|$$

for v > 0. By the definition of  $\chi$  and (3.5), it holds that  $|\chi(v)| \leq \epsilon$  for all v > 0 and so

$$|\mathcal{A}(\chi)| \le \int_0^\infty \left| e^{-uv} \right| |\chi(v)| dv \le \frac{\epsilon}{R(u)}$$
(3.16)

for all u with R(u) > 0.

473

#### 474 S. Baskaran, R. Murali, A. Ponmana Selvan, M. Donganont and C. Park

Finally, it follows from the formula for the inverse Aboodh transform that

$$\begin{aligned} |x(v) - x_a(v)| &= \left| \mathcal{A}^{-1} \left( \frac{\mathcal{A}(\chi)}{a_0 + \eta_{n,0}(u)} \right) \right| \\ &= \frac{1}{2\pi} \left| \int_{-\infty}^{\infty} \frac{(a + ix)e^{(a + ix)t} \mathcal{A}(\chi)(a + ix)}{a_0 + \eta_{n,0}(a + ix)} dx \right| \\ &\leq \frac{1}{2\pi} \int_{-\infty}^{\infty} e^{av} \frac{\epsilon}{a} \frac{|a + ix|}{|a_0 + \eta_{n,0}(a + ix)|} dx \\ &\leq \frac{\epsilon e^{av}}{2\pi a} \int_{-\infty}^{\infty} \frac{|a + ix|}{|a_0 + \eta_{n,0}(a + ix)|} dx \\ &\leq \epsilon N \frac{e^{av}}{a} \end{aligned}$$

for all v > 0 and any  $a > \max\{0, \rho, \rho_j\}$ , where

$$N = \frac{1}{2\pi} \int_{-\infty}^{\infty} \frac{|a + ix|}{|a_0 + \eta_{n,0}(a + ix)|} dx < \infty$$

since n > 1 is an integer.

## 

### 4. CONCLUSION

Using the Aboodh transform, we proved the Hyers-Ulam stability of the nth order linear differential equation

$$x^{(n)}(v) + \sum_{\kappa=0}^{n-1} a_{\kappa} x^{(\kappa)}(v) = \phi(v).$$

#### References

- K.S. Aboodh, Solving porous medium equation using Aboodh transform homotopy perturbation method, Pure Appl. Math. J., 4(6) (2016), 271–276.
- [2] Q.H. Alqifiary and S. Jung, Laplace transform and generalized Hyers-Ulam stability of differential equations, Elec. J. Differ. Equ., 2014 (2014), Paper No. 80.
- [3] A.A. Alshikh and M.M.A. Mahgob, A comparative study between Laplace transform and two new integrals "ELzaki" transform and Aboodh transform, Pure Appl. Math. J., 5(5) (2016), 145–150.
- [4] C. Alsina and R. Ger, On some inequalities and stability results related to the exponential function, J. Inequal. Appl., 2 (1998), 373–380.
- [5] A. Baza and M. Rossafi, Generalized Hyers-Ulam stability of quadratic functional inequality in modular spaces and β-homogeneous Banach spaces, Nonlinear Funct. Anal. Appl., 29(1) (2024), 295–306.
- [6] I. Chang and H. Kim, Almost quadratic Lie \*-derivations on convex modular \*-algebras, Nonlinear Funct. Anal. Appl., 28(4) (2023), 887–902.
- S. Jung, Hyers-Ulam stability of linear differential equations of first order (II), Appl. Math. Lett., 19 (2006), 854–858.

- [8] S. Jung, Hyers-Ulam stability of a system of first order linear differential equations with constant coefficients, J. Math. Anal. Appl., 320 (2006), 549–561.
- S. Jung, Approximate solution of a linear differential equation of third order, Bull. Malay. Math. Sci. Soc., 35(4) (2012), 1063–1073.
- [10] S. Jung, A. Ponmana Selvan and R. Murali, Mahgoub transform and Hyers-Ulam stability of first-order linear differential equations, J. Math. Inequal., 15(3) (2021), 1201–1218, https://doi.org//10.7153/jmi-2021-15-80.
- [11] S.D. Kadam, R. Menon, R.S. Jain and B.S. Reddy, Ulam stabilities for impulsive integrodifferential equations, Nonlinear Funct. Anal. Appl., 29(1) (2024), 197–208.
- [12] R. Murali, C. Park and A. Ponmana Selvan, Hyers-Ulam stability for an nth order differential equation using fixed point approach, J. Appl. Anal. Comput., 11(2) (2021), 614–631.
- [13] R. Murali and A. Ponmana Selvan, Fourier transforms and Ulam stabilities of linear differential equations, Front. Funct. Equ. Anal. Inequal., Springer, Cham, 2019, pp. 195–217.
- [14] R. Murali and A. Ponmana Selvan, Hyers-Ulam stability of a free and forced vibrations, Kragujevac J. Math., 44(2) (2020), 299–312.
- [15] R. Murali and A. Ponmana Selvan, Mittag-Leffler-Hyers-Ulam stability of a linear differential equations of first order using Laplace transforms, Canad. J. Appl. Math., 2(2) (2020), 47–59.
- [16] R. Murali, A. Ponmana Selvan, S. Baskaran, C. Park and J.R. Lee, Hyers-Ulam stability of first-order linear differential equations using Aboodh transform, J. Inequal. Appl., 2021 (2021), Paper No. 133.
- [17] R. Murali, A. Ponmana Selvan and C. Park, Ulam stability of linear differential equations using Fourier transform, AIMS Math., 5 (2019), 766–780.
- [18] R. Murali, A. Ponmana Selvan, C. Park and J. R. Lee, Aboodh transform and the stability of second order linear differential equations, Adv. Difference Equ., 2021 (2021), Paper No. 296.
- [19] J.M. Rassias, R. Murali and A. Ponmana Selvan, Mittag-Leffler-Hyers-Ulam stability of linear differential equations using Fourier transforms, J. Comput. Anal. Appl., 29 (2021), 68–85.
- [20] H. Rezaei, S. Jung and Th.M. Rassias, Laplace transform and Hyers-Ulam stability of linear differential equations, J. Math. Anal. Appl., 403(1) (2013), 244–251.
- [21] S.E. Takahasi, T. Miura and S. Miyajima, On the Hyers-Ulam stability of the Banach space-valued differential equation  $y' = \alpha y$ , Bull. Korean Math. Soc., **39** (2002), 309–315.